

CITY OF HOLLYWOOD, FLORIDA

Procurement Services Division

2600 Hollywood Blvd. • Room 303 • P. O. Box 229045 • Hollywood, Florida 33022-9045 Phone (954)921-3299 • Fax (954)921-3086

April 15, 2014

Weed-A-Way, Inc. Attn: Monday Okotogbo 5900 Dewey Street #202 Hollywood, Florida 33023

RE: Bid F-4400-14-RD Grounds Maintenance (Open Market)

Dear Mr. Okotogbo:

On March 27, 2014, Weed-A-Way, Inc. submitted a bid for Grounds Maintenance Services (Open Market), Bid F-4400-14-RD as issued by the City of Hollywood.

Based upon the fact that Weed-A-Way, Inc. is located within the boundaries of the City of Hollywood and is a local Hollywood vendor, the City's Local Preference Ordinance applies to this formal bid solicitation.

Local Preference

When the lowest responsive responsible bidder is a non-Hollywood business and a responsive responsible local Hollywood vendor's bid is within 5% of the lowest bid, the local Hollywood vendor is allowed to submit a second bid. The second bid must be lower than the lowest bid by at least 1% to be awarded. The second bid submitted will be considered the local Hollywood vendor's best and final offer.

Weed-A-Way, Inc.'s combined bid amounts submitted for Zone 5 and Zone 5A (copy attached) is within 5% of the lowest bid submitted for Zone 5 and Zone 5A.

In accordance with Section 38.50 of the Purchasing Ordinance, Preference for Local Bidders, the City of Hollywood is providing Weed-A-Way, Inc. the opportunity to submit a best and final offer for Zone 5 and Zone 5A.

Please submit your second bid which shall be your best and final offer on the attached blank revised bid pricing pages to the City of Hollywood, 2600 Hollywood Boulevard, Office of the City Clerk, Room 221 no later than Monday, April 21, 2014 at 3:00 P.M.

Please contact me at 954-921-3290 or via email at jwasserman@hollywoodfl.org if you have questions.

Sincerely,

Joel Wasserman, Director Procurement Services Division

F-4400-14-RD

	and the second				
CLI COLT					
Submit Bids To: City of Hollywood 2600 Hollywood Boule Hollywood, Florida 330	2001/2010/200	CITY OF HOLLYWOOD, FLORIDA			
Office of V Clerk, Ro	BIDDER ACKNOWLEDGMENT				
Bid Title: City-Wide Grounds Maintena Bid No.: F-4400-14-RD Commodity/Service Required: as above A Cone of Silence is in effect with respect to this	Bid must be received prior to 3:00 P.M., March 20, 2014 and may not be withdrawn within 90 calendar days after such date and time. Bids received by the date and time specified will be opened in Room 303. All Bids received after the specified date and time will be returned unopened.				
Bid. The Cone of Silence prohibits certain	Procurement Services Contact: Ralph Dierks, or Linda Silvey, or Joel Wasserman or his designee				

Telephone No.: (954) 921-3223 or (954) 921-3200 or (954) 921-3290

BIDDER ACKNOWLEDGMENT

the City. For further information, please refer to

Section 30.15(F) of the City's Code of Ordinances.

THIS FORM MUST BE COMPLETED AND SUBMITTED ALONG WITH THE COMPLETE BID DOCUMENT BY THE DATE AND THE TIME OF BID OPENING. THE BID SUMMARY SHEET PAGES ON WHICH THE BIDDER ACTUALLY SUBMITS A BID AND ANY PAGES UPON WHICH INFORMATION IS REQUIRED MUST BE COMPLETED AND ATTACHED WITH ALL PAGES OF THE BID DOCUMENT.

Bidder's Name: Ward - A - Wall, The	Fed. ID No. or SS Number
Complete Mailing SACO Deway St #202	Telephone No.: 786-6103-9802
Holly Wood FI 33023	Fax No.: 994-374-6562
Do You Have a Permanent Office Located in the City of	E-Mail Address:
Hollywood? Yes 🛛 No 🗌	1 Deedawallignsn.com
Indicate type of organization below:	Is the Proposer a City of Hollywood Qualified Local MBE or
	SBE? Yes 🚺 No 🗌
Corporation Partnership Individual	Certifying Agency:

ATTENTION: FAILURE TO SIGN (<u>PREFERABLY IN BLUE INK</u>) OR COMPLETE ALL BID SUBMITTAL FORMS AND FAILURE TO SUBMIT ALL PAGES OF THE BID DOCUMENT AND ANY ADDENDUMS ISSUED MAY RENDER YOUR BID NON-RESPONSIVE.

The undersigned bidder certifies that this bid is made without prior understanding, agreement, or connection with any corporation, firm or person submitting a bid for the same materials, supplies, services, or equipment, and is in all respects fair and without collusion or fraud. I certify acceptance of this bid's terms, conditions, specifications, attachments and addenda. Further, by signing below in blue ink), pages 5 through 7 are acknowledged and accepted as well as any special instruction sheet(s) if applicable. I am authorized to bind performance of this bid for the above bidder.

Authorized Name (T Title Date Authorized Signatur

REVISED PRICING PAGE F-4400-14-RD ZONE 4A

No.	Service Location	SQ. FT	Туре	Cost Per Service	x	Annual Frequenc Y	=	Total Annual Cost
1	City Hall, 2600 Hollywood Blvd	167,090	Facility	ş	x	26 Bi-weekly on Saturdays Only	=	\$
	D FOR ZONE PER SERVICE (to SERVICE)	tal of line 1	=	\$				
TOTAL BI	D FOR ZONE ANNUAL COST (total of line 1	FOTAL ANNUAL (COST)		=		\$

No.	ZONE 5 Service Location	SQ. FT	Туре	Cost Per Service	x	Annual Frequency	=	Total Annual Cost
1	FEC Corridor east and west sides from Pembroke Road to Sheridan Street, excluding Monroe Street thru Fillmore Street. Include parking areas on S. 21st Ave from Monroe south to Washington St.	709,000	Median/ Swale	\$841.48	x	23	H	\$ 19,354.04
2	Fred Lippman Multi-Purpose Center, 2030 Polk Street, North parking lot; Hollywood Shuffleboard @ 309 N. 21st Ave.	12,497	Facility	\$84.00	x	23	=	\$ 1932.00
3	Parks & Recreation Bldg, 1715 N. 21st Ave	8,500	Facility	\$140.00	х	23	=	\$3,220.00
4	Fire Station 5, 1819 N. 21st Ave	13,000	Facility	\$187.45	x	23	=	\$4,311.35
5	Fire Station 105, 1511 S Federal Highway	6,916	Facility	\$149.00	x	23	=	\$3,427.00
	AL BID FOR ZONE PER SERVICE (to 5 COST PER SERVICE)	otal of lines	=	\$1,401.93				
тот	AL BID FOR ZONE ANNUAL COST (total of lines	1 to 5 TOTAL AI	NNUAL COST)		=		\$

REVISED PRICING PAGE F-4400-14-RD ZONE 5A

No.	Service Location	SQ. FT	Туре	Cost Per Service	х	Annual Frequency	=	Total Annual Cost
1	Poinciana Park & Dog Park, 1301 S. 21st Avenue	200,990	Facility	\$ 226.53	x	36 (On the 10th, 20th, & 30th month)	=	\$ 8,155.08
	AL BID FOR ZONE PER SERVICE (t T PER SERVICE)	otal of line 1	=	\$				
тоти	AL BID FOR ZONE ANNUAL COST	(total of line 1	TOTAL ANNUAL	COST)		=		\$
тоти	AL BID FOR ZONE ANNUAL COST	(total of line 1	TOTAL ANNUAL	COST)		=	5	, } 55